QUOTE #

092706DC

QUOTATION

DATE:

Sep 27, 2006

Delivery: Typically 10 Days ARO

Quoted by Debi Cooper



M&A Technology 3370 Nacogdoches Road Suite 152 San Antonio, Tx. 78217 (888) 243-5092

Local: (210) 946-5103 Fax: (210) 946-5112 Quote Valid for 30 Days Page 1 of 2

Oboted to:

Nancy Jones Beeville ISD



#R452

DESCRIPTION		QTY	PRICE	TOTAL
Brother 8060 Copy Scan Laser	#DCP-8060	1	\$346.00	\$346.0
Isb cable		1	\$6.00	\$6.0
Shipping		1	\$7.00	\$7.0
In spite of significant increases in shipping cost, Maintain its policy of offering Free Shipping on all or more.				
or more.				
Regretfully, shipping charges will be added to all \$500.00.	orders less that			
Regretfully, shipping charges will be added to all				
Regretfully, shipping charges will be added to all \$500.00. We are committed to providing our customers with				

QUOTE #:

091906RW

QUOTATION

DATE:

Sep 19, 2006

TOTAL

Delivery:	Typically	10 Day	S ARO
Delivery.	1 y pically	10 Da	SAIL

Quoted by: Rob Wichterman

DESCRIPTION

M&A Technology

3370 Nacogdoches Road

Suite 152

San Antonio, Tx. 78217

(888) 243-5092

Local: (210) 946-5103 Fax: (210) 946-5112 Quote Valid for 30 Days Page 1 of 2

QTY

Quoted to:

Nancy Jones

Beeville ISD

ELMO	9416 TT-	02 DIGITAI	PRESEN	TER	
				#FI M-9416	

\$630.00

PRICE

In spite of significant increases in shipping cost, M&A will continue to maintain its policy of offering Free Shipping on all orders of \$500.00 or more.

Regretfully, shipping charges will be added to all orders less that \$500.00

We are committed to providing our customers with unsurpassed values and sincerely appreciate your business.

See second page for warranty details

Grand Total:



M&A Technology, Inc. 3370 Nacogdoches Road Ste. 152 San Antonio, TX. 78216 www.macomp.com

Quoted By:

Debi Cooper

Phone: 888.243.5092 OR 210.946.5103

Fax: 210.946.5112 dcooper@macomp.com

Quoted To:

Beeville ISD

Lawrence Garcia

TCPN# R4521



Description	AFFERS STORY BENCH	Quantity	Price	Total
	To State of the State of			
Manda Dual Core Workstation (Black)		1	\$1,079.00	\$1,079.0
Black tower case w/ 350 watt power supply				
Intel D945GTPLKR	#432418			
Intel Pentium D 805 2.66ghz Dual Core L2 2mb	#461556			
1gb memory				
Western Digital 160GB 7200RPM HDD SATA	#WD1600JS			
CD				
3.5" Floppy Drive	#273334			
Integrated NIC 10/100/1000				
ntegrated Graphics Media Accelerator 950				
ntegrated high definition audio				
1 PCI express and 2 PCI slots				
4 SATA ports				
HP StorageWorks DAT 40 USB Internal Tape Drive	#AG429A			
Windows 2003 Server license R2 Academic License	#J37680	1	\$112.00	\$112.0
Windows 2003 client access license (by user or device	a #830520	100	\$6.20	\$620.0
Windows 2003 Media Kit	#J37485	1	\$26.00	\$26.00
nstallation of server software by M&A		1	\$150.00	\$150.00
Price includes				
Delivery, installation, trash removal		1 1		
Byr on site parts and labor warranty				
	TOTAL>>>>>	 >>>>>> 	>>>>>	1,987.00
smarter worksterion	ter ,,, laptops	STANSAGE OF		









Date 11/6/2006

Quote # BAF103106-01

Quotes Good for 30 days

PROFESSIONAL SOLUTION QUOTE

Customer Name:	Dec. III- 10D	Rep Name:		Brad Fo	ordyce		
	Beeville ISD Lawrence Garcia	Rep Ext.		x299	27		
Phone Number:		Phone:		800-211	-4952		
Fax Number:		Fax #:		605-232	2-1314		
Email Address:	lgarcia@beevilleisd.net	Email Address:	brad.fo	ordyce@	gateway.com		
ITEM #	Item Descr	ription	Qty		Unit Value	ı	Extended Price
SB680	77" Inch SMART B	oard SB680	1	\$	1,399.00	s	1,399.00
FS670	Mobile Floor Stand	d for SB 680	1	\$	349.00		349.00
						\$	
						\$	

Sub Total
**Tax is not included

Quote subject to terms of current Agreement signed by you and Gateway, or absent Agreement, to Gateway's Standard Terms of Sale and applicable product and services warranties which are available by writing to Gateway Terms & Conditions, P.O. Box 1951, North Sioux City, SD 57049-1951. Prices exclude shipping and handling and taxes unless otherwise noted.

SHIPPING AND HANDLING INCLUDED IN PRICE

MORENO JUNIOR HIGH REQUEST FOR CAPITAL OUTLAY (SUPPLIES)

Item Description	# needed	Price per unit	Total price	Justification
Laser Printers	5	\$1,200.00	\$6000.00	Old ones need to be replaced. Our new curriculum involves making many more copies than usual. This will save money on ink being spent for desk top printer cartridges.
USB Flash Drives	25	\$18.00	\$450.00	The curriculum requires a lot of memory storage of lesson plans and other documents. This will make it easier for teachers to manage materials.
Total Requested			\$6,450.00	

AC Jones High School 2006-2007 Capital Outlay Request

Item	Cost	Quantity	Amount	Justification
LCD Projector	\$690	10	\$6,900	Since the addition of the teacher laptops, all of our teachers are using more technology in their classrooms. They are having difficulty demonstrating lessons using and integrating technology without the projectors. AC Jones has been fortunate that the majority of our teachers have projectors. The addition of these ten projectors would allow all teachers to incorporate technology in their lessons. Students would benefit from the projectors by seeing power points rather than listening to lectures, utilizing hands on activities, presenting their own projects to the whole class, etc.
Desktop Computers	\$1,200	10	\$12,000	The only computer lab at the high school is housed in the library with only 18 working computers. With class sizes up to 28, teachers are not able to utilize their time in the computer lab to the fullest potential due to sharing of computers. In addition to research, other benefits to students would be using TAKS software to prepare them for the TAKS test, typing their papers, completing PowerPoint projects, and using additional computer software and programs to incorporate in their class assignments.
SLEEK IT Testing Software (TAKS)	\$13,500	1	\$13,500	The need to improve test scores is crucial at the high school. This software would provide all four core area teachers a tool to help assess student's progress.
Poster Maker, Paper, Ink, and Training	\$6,654	1	\$6,654	The high school is on a quest to help students improve in all aspects of their school work and life. Inspirational and informative posters have already been created to post around the school and in the classrooms. The cost of these posters is increasing. Having a poster maker on campus would also help the teachers make information such as class rules, procedures, policies, vocabulary, and content concepts visible for all students.
	TOTAL	-	\$39,054	